- Signature of Invigilators

D—1402

Time Allowed : 75 Minutes]

Roll No.
P SYCHOLOGY (In figures as in Admit Card)
Paper II RO NO. oovovooeeeeeoeeeeoeoe
(In words)
Name of the Areas/Section (if any) .......cceeevvvvervennnnn.

[Maximum Marks : 100

Instructions for the Candida\tes

Write your Roll Number in the space provided on the top of this page.

This paper consists of fifty (50)

multiple choice type questions. All questions are compulsory.‘

Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should

be a capital letter for the selected option. The answer letter ‘A’ should entirely be contained within

the corresponding square.

Correct method A Wrong Method 3 or m
4. Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under

paper II only

Read instructions given inside carefully.

One sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the invigilator at the end of paper and should not carry

any paper with you outside the examination hall.

wlaudlal w2 Y-l

1. yeorit Guan opdl el gl dauil siis v (Aa Her) avil,

2. HAUARL YO (AR ogdsRus Grlan usl B, o8l % Uil Gzl suval s3Brud B

3. ucls [RQRLd (A), (B), (C) ¥ (D) At AR AR Gril nuHi e . dd :dlsdal Rseysi Gua
3uzet (udefl Ro(RNS)) marai iyl 23N L G wuden i #vl A quial,

wll welR : |A]wid wela : B
2L WAL G S l2u AL GriWaAsME Paper I+l <0 awail 224,

e vl YA 2l i,

© £ X

xq dl. -

2l G Uil ¥d g Y s sn WS B, ;
o HAUA QUi 28 212d 2 Gl dwrl FRlasA vl 3l wlauvisHl olely Sidu usuaL @







PSYCHOLOGY
Rl
PAPER—II
W Yo —I1

Note :—This paper contains fifty (50) multiple-choice duestlons Each questlon carries

A4 ¢ v Nl 40 egRuadl uadl 3. udls Nat- a (:.) @ TR

1.

two (2) marks. Attempt all the questions.

G L.
Professors  are absent-minded is a :
(A) Well-known saying (B) Common phrase
) Perceptual defence ‘ (D) None of these"
MIFAU ofasu ¢l & 3 F ¢ | -
A) Aelldl sdad & 2 (B) WHIY qUA 8§
(© Neuallga o Wy4Ba 8 D) wnidl Aswa dl
Match ‘P’ with ‘Q and indicate correctly matched series :
P : Q

(@) Festinger (1) Need for achievement
(b) McClelland . (2) Cognitive dissonance
(© Lewin . ] (3) Consistency and inconsistency
(d) Heider (4)  Field theory B
A) a-1 - b2 3 d—4
(B) a-2 b-1 c—4 d-3
©© a—2 b-1 c—3 d—4
D) a-1 b-3 d-4
‘P’ A Q [a.ouaz-?t sl u—‘t -'euzﬂ Ad Asdl Aell aat[qt

P. . Q -
(@ 3% ) Rled s3wd
(%) AsQars @ wuts [AiauRddl
(© adl4 L (3) Widlddl- vl
d 1SS @ a8 Reid
(A) a1 b2 -3 d—4
B) a2 b-1 c—4 d-3
(O a2 b-1 -3 d—4
D) a-1 .b-3 -2 d—4
Ebbmghaus feathered the study of :
(A) Verbal rate learning (B) Classical conditioning
(C) Instrument learning o D) Trial and Error learning -
Ao{PEin AlAl sl 200U AU &l -
A) wbes e [haw B) wlly wRriw
(C) Wardd ilMiqu- D) MU A oy e



Thinking always involves :

(A) Imagery " (B) Autism
(C). Symbols ' (D) Insight
Rtz wEumi eﬂau AE gy B
C(A) seu-lL B adl-a
(C) ucdlsi | | T D) WAy
A variable that shows a h1gh correlation with aggress1on is :
(A) Autonomy - (B) Activity level
(C) .Dependency . D Nurturance
JRAUL A GlAL usAsiy urlad WRady A @
(A) Reluddl B) uqlu-l sau
(C) adBidar - 0 D) *Wwaxwd
According’ to Hine intelligence is that which :
(A) can be defined (B) cannot.be defined
(C) does not exist - - (D) none of these
Sl Hd ofa A ) 3 :
@A) Al cvar 2l usiy B) -l vyl 4 2l wusy
O B wRdc el @) wunidl Asua gl
Match ‘P’ with ‘Q and indicate correctly matched series :
P ‘ _ Q
(@ Jung * (1) Unconscious
(b) Adler » (2) Eight stages of life
(¢) Eriksson ° R - (3) Individual Psychology
(d) Freud - (4) Collective unconsciousness
(A) a1l b-2 c-3 d-4
(B) La—4 - b-3 -1 d-2
©) a4 - b-3 c—-2 d-1
D) a3 - b—4 c—-2 d-1
P A ‘Q Rewad RSk 213 AR A Asdl Al ealal :
P Q ‘
@ ¥du ‘ | (1) Acr U
(b) saR (2) DAl S dAGLSSIGIL
© Qz‘lsm | S (@) Aldod u-if@Qsu-
@ #&Ss | @ WS AAd U
A) a-1 b—2 c-3 d-4 .
B) a4 b-3 c-1 d—2
()] a4 - b-3 c-2 d-1

D) a-3 b-4 -2 d-1
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A rank correlation :

is a simple method of correlation than Karl Pearson techmque
is designated by r '

should probably done on a computer

does not go below zZero

Uerivia 224 :

sted -Puaal- ugl}d sl A usoiasll vgla 8

A 47 ad wauanl wud 8

A slaye: uR el wsy ]

Q graell (0) N osell el

A psychological test measures :

Total behaviour o (B) Sample behaviour

Abnormal behaviour (D) None of these
wldsitRs s wiuA 53 0 3 % ¢
yel ad- @) [ed ad+
[Agd ad+ - @) umidl sidua el
10. Match ‘P’ with ‘Q’. and md.lcate correctly matched series :
James-Lange theory (1) Assigned the central role in
Cannon-Bard ‘ , emotion to the thalamus
Schachfer - () We are afraid because we ran
Watson " (3) Behaviourism
(4) Cognitive physiological theory of
, emotion '
a2 b-1 = -4 d-3
a—2 b-1 -3 d—-4
a1 b2 c-3 d—4
a1 b-3 c—2 d-4
A Q" Reuad Ast A wall A} A Al galdl -
P Q
Fu-dorl Risid Q) 2&[5101‘“ admarll a,w o;msl
}vtvt-t»ué @ 2uud Rl ¥SA A ed
AASR S 2y S @l
a0 @) addae |
@ il swums am’l&s Rigid
a2 - b-1 c—4 d-3
-2 . b1+ 3 d-4
-1 b2 -3 d—4
a—1 l b"’3 c—-2 d-4
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11.

12.

13.

14.

Ability to d1st1ngu1sh an ob]ect from its general background is basm to :

(A) Some form perception (B) -All form perception
(C) Only linear perception ‘ (D) None of these
AU osiiiell wedA g wsatll You wwasd A ;|

(A) dig ueusllsad Q3w (B) Au Hcualls@ed a3y
€) WA sl ucualsw @) uniell Sisua Al
ivseeessmsresean is associated with learning By trial and error. ,,

(A) Thorndike : (B) Thurstone

(C) Freud . ®) Hull

---------------- g et A oje-t Ruaid w0l asuuilc-t ® :

@A) didsids B) WA

©) &ifs § D) e4

The information processing model is proposed by :
(A) Terman and Simon

(B) Watson and Atkmson J

(C) Richard Atkmson and Richard Shiffrin

“~ (D) Tulving and Osler’

wRdl uBug Wsa AA-umidfl s yae & :
@A) oM 21 wunA

(B) dieurt wA N2l ¥

(€) S e A :ﬂmé s -

® atecﬂat w AAR

‘ Autlsm is an extensmn of :

(A) Animism - “ B Ego-centrismk’
(C) Accommodation =« (D) None of these
Wl Rrca A ;- | u |

A) Fstiale B e 3ud

(€) wudu+ | O AWl siSue ]



" 15.

16.

17.

18.

19.

Unconscious motives express themselves in a :

(A) Dreams (B) Slips of speech
© Symptoms of neurotic D) Al of these
At AUl QL A % wlMausd s 8 ¢

(A) Wil B) sl sl
©) dx Rgd aael D) ML o8l %
Abstractness lies at the heart of Intelligence :

(A) Hine (B) Wechsler

(C) Spearman (D) Stoddard

ofad etf ydardl wa asuuicj, €9 '

Q) 81 - (B) Asu4R

(€) RuudAA . (D) WSIS
Personality is greatly influenced by :

(A) Social interaction (B) Speech

(C) Characteristic (D) None of these
alidca yead Al neudd aw 8 ¢

A) wulys idABuiil ~(B) e

(C) aasll @) il Asua dl
The easiest measure of variation to compute is the :

(A) Range (B) Mean deviation
(C) Standard deviation ' (D) Critical ratio
Raas-dl amdl g Al Add u B ¢

A) [AadlMRUR : B) uvw [audq
©) we [Quan @) sils aiidr

To study communalisms which method is needed ?

(A) Interest Inventory

(B) Attitude Scale

(C) Personality Inventory ’ -
(D) None of the above

alRaledl e W2 59 ugl-l ¥3Rud & :

@) W dafs (ARR Aelafs)

(B) urllaaxt dau

© aBdc Ahafis

@) Guwidl siSua dl
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20.  Food intake is regulated by

(A) Thalamus | ~ (B) Hypothalamus
(C) Cerebrum - (D) None of these
(CIBICT) ‘-‘ll?.l!sd, QB{I.C‘H. sl 98 4y ¢9

@) aauy (B) sSudany

(O Houw-il yvy 6oL D) uMidl sidue |l

21.  Perceptual constancy refer to :
(A) The stability inb sensory inputs
(B) The stability of our perceptual world
(C) The change in the relatlonshlp of an object to 1ts background
(D) None of these
Nualls Alacs A2 :
Q) Adet WRAA Ry |
B) sl dcuallyd word-l Real
(€©) g 1 Al st Aeiani 33513
D) Gunidl siSu 4l
22.  Skinner’s Box is used for : ‘ .
(A) Motor learning (B) Verbal learning

(C) Problem solving (D) Incidental learning
AI-UAAL Gulol s WS iy Q)
@A) slaen Raw - B)  wltes RBag
(©)  AR-Glet O  wuslus Raw
23.  Factors involved in efficient skill Iearhing are :
(A) Knowledge of result (B) Distribution of practice
(C) Transfer of training - (D) Al of these
MAWLRS Sluey Qe a g2l awdal ©
@) wRay suq \ ®) Hetaxudll adugl)
(©) hfwgt ASHRL D) 2UxiL o8l §

Psy —II 8




24. From the ages of 2 to 4 the child’s speech is :

(A) Intuitive o (B) Preconceptual
(C) Ego-centric - (D) Concrete |
Aol AR adl ounsl oliefl 34l slu B :
A) d: Wales - @) yd vuensis
©) 284 3fsd D) i3
25. McClelland’s measurement of achievement motivation uses :
A) Anégram solution (B) The galvanic skin response
(C) Utility of feeling ~ | (D) Fantasy of production
AsdArseil RUa—ALUAL Hu-AHL Gudior iy § :
@A) Ay Gl B) «ufy wRka
(C) awrRl-l Guuia . D) seuruild Gewett
26. Thurstone’s primary factors include number factor, verbal factor and :
(A) Space factor ‘ (B) Word fluency factor
(C) Reasoning factor D) All these factors
el WAy uesini vis ues, wles ues A wesi-Al AU WY O -
(A) vasial 425 . B) WBes UURAL 42s |
© ulds wes . D) U w4l o u2sl
27. Which of the following is associated with the id ?
" (A) Pleasure principle : (B) Reality principle
(C) Both (A) and (B) ‘ (D) None of these
il sul Rugia S5« WA usAeifad & -
@A) Yul Rgia : B) ardlasdaidl Rgid
(€©) 4 (A) 1 (B O wnifl siSum gl
28. The accuracy of statistical inferences depends upon :
(A) Critical ratio . (B) The size of sample
(C) The sample standard error ~ (D) The standard deviation
vissiotofla dgiiti-l AlssAA 2R B
@A) silas yuia: (B) i 58
©) -yl nulRid oa O wwe [Quan

Psy—II 9 P.T.O.



29.

30.

31.

32.

33.

Psy.

Interest pattern measured by a standardized test is called :
(A) Manifested interest
(C) Expressed intex"est‘ (D) None of these
WURA sAL AR ol WUt Ay © AN 58 B ¢

@A) uelia =zl | B) AUl 23R
€) s ulMzRD - M) il sidwa sl
Basic unit of nervous system is : ‘

(A) Neuron : (B) Glands

(C) Cell . _ (D) None of these
uyAda ueldd ywu Asw g

A) 3Adidg, . (B) 3Rl

©) sin D) 2umidfl siSua Al
Physically attractive persons are perceived as :

(A) Assertive - (B) Soft spoken

(C) Clever (D) Socially desirable
Wy susrloauol ABasiy ucuallsaa 3 & :

@A) uudl | (B) g ol

©) siuuR @) - Aulys g
Salivation to the bell in the classical conditioning is :

A ucs - B) CS

(C) UCR o ~ (D) None of these
welly ifRRiadl daslrl sl i »a-l wBEu :

A ucs B CS

(C) UCR | | ®@) nidl sifun Al

The better recall at the end of the list is known as :

(A) Primary effects (B) After effects

(C) Decays effects (D) Recency effects
el Wl vidul WY yuded wd @ A sdau B :
@A) wals x1u (B) usald AU

(©) ol 2uAU @) AFd-dl 21

—II 10
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34. According to J. S. Bruner, gestures are :
(A) Symbolic Representation .
(B) Iconic Representation
(C) Enactive Representation
(D) Paradoxic Mode
F. AU, Gl Hd AL O ¢ ‘
A) ncdisidis sl - ; -
@) WAL Al (dlstysd Heala) '
(©) sl uf@m[%d
®) RAwenl Hs
35. A motivated behav10ur is directed towards

é

(A) Situation - (B) Ob]ect
(C) Goal E (D) Group
Aauces addndl ds atzcwl@ Sl 9
@) wRRal S ® uwi
(C) &y | D) N
36. Match ‘P’ with ‘Q and indicate correctly matched senes :
P Q
(@) Thurstone : (1) Mental Age
(b) Binet . (2) G-Factor theory ,
(0 Spearman S (3) Prominent Process Oriented
(d) Piaget J. , theorist :
' o ' ‘ (4) Primary mental ability

(A) a—-2 - b-4. c-3 d-1
B) a-1 " b-4 -3 d-2
© a—4 - b-1 c-3 a-2
D) a—4 b-1 d-3
‘P wd ‘Q’ aouov’-l AL bt-‘l zua{l Aad Asdl sleﬂ aitfql

P Q
(@) ¥ (@ Wl ey
@) ol o @ @ ues Rgid
@ [Ruudq (3) 3w AN YSl ul}maaa Rugictsal
@ M2v %, - @ wals HH@L& u[?m
(A) a-2 b4 3 = d-1 :
B a1 b4 -3 d-2
©) a4 b1 3 d-2
D) a—4 b-1 c-2 d-3

Psy—II . 11 ' P.T.O.



37. The ego is identified as : :
- (A) Reality principle (B) Pleasure principle

(C) Problem-solving ' (D) None of these

ASH AAMY D .

Q) ARdRSsA Reid B) yu-i Rugicd

(C) AR B34 @) 2uMidl sty <l
38. Which formula is used to calculate the mode ?

(A) Mo = 2 Mdn) — 1 (M) (B) Mo = 3 (Mdn) — 2 (M)

(C) Mo =2 (Mdn) -3 (M) (D)Mo—Z(M)—l(Mdn)

sgersll oLl saL W2 sui Youul GualoL wa @ 7 |

@A) ogas =2 (nera) — 1 (Heus) B) olgds =3 (Meura) — 2 (uus)

(C) olgds =2 () — 3 (%ata) D) ogas =2 (ums) — 1 (%mm)
39. Indian adaptation of TAT is done by :

(A) Udai Pare’ekhx - (B) Uma Chaudhari
(C) Malin o (D)‘ None of these
TAT 4 Ul 3uidR si-l gl 2y & :

A) Gey uw. - B) Gx Ayl

© wd4 ®) il siSual Wl

40.  Brain and -spinal cord comprise a system called :
(A) Autonomic Nervous" System (B) Central Nervous System
(C) Peripheral Nervous System (D) Sympathetic Nervous System
WY el SAUSAY gLRL AL ot vl ¢l

@) @ AUl qedat - ® Fwadl wwds
(C) u&qqd[ HAAA D) A8IgSYl 1At
41. Select the 1mportant cognitive process in social perception :
A) Ind1v1duahsrn B Categorization
© Closer (D) Assumptions
AHy s ucq&ﬂsztamt wth-ﬂ Allcs UEUL wie s
A) alddalel - (B) wllsw
© wlluci | D) LUl



42

43.

44.

45.

46.

Nonsense syllabus devised by : NI
(A) Thorndike , (B) Ebbinghaus

(C) Pavlov (D) Skinner
el uel-ll Wa sAUR -
Aa) di-dsiSs ®) ANellasin
(C) uladld D) WlAR
Scientific study of learning is......... old.
(A) 110 years ’ (B) 100 years
(C) 90 years . - ’ (D) 80 years
Rag-l daRs siean }ac-u ay ol @ R
@A) 110 ad o ®) 100 adl
(© 90 ad | - D) 80 cn{
Who said, “We think with our whole body”
(A)--Watson (1914) ' B) Osgood (1953)
(C) Jacobson (1932) D) Max (1973) 1
oyl wuuRll wivit 230l Qe s Gl 7 AN 4 58 ?
(A) dier (1914) (B) ML%LQLS (1953)
(C) Fsio (1932) D) AsA (1973).
An instinct is : _ “
(A) Non-biological force (B) An innate biological force
© A psychd-social force (D) None of these
yagl o | -
@A) s dsid (B) %-id %[a.s st
(€) w-l-urul¥s distd @) Guuidl m?wgl vté[
- Alfred Binet’s 1ntelhgence test was standardlzed in Amenca as the Stanford-
Binet by : ~
(A) Wechsler (B) Spearman
" (C) Terman ' (D) Thurstone
201635-o{lnl ol A AR RessiS A a3 Al wu@m s edl :
(A) AsAAR : ' B) Ruudq
©) 2+ | © (D) uawetd

Psy.—II 13 ' P.T.O.



47.

48.

49.

50.

The energy of the motive is :

A) Id ‘ SRS (B) Ego

(C) Super-ego S (D) Libido

AUl Qof alzd ﬂa& -

@A) ¢s (B) Soul

(C) Yu-Saul D) dll&si

Which of the following cannot be cons1dered a quahty of good hypothesis ? -
(A) Clarity by ‘ (B) Modifiability

(C) Plausibility (D) Verifiability ,
A yaaniysd Geseurt w2 {Aunigl 59 olioidn Al « ad ws ?
(A) ¥Wredl : (B) YELCUHSclL

(C) AU ' D). astuell Ysdc

.......................... is the term used for 1.Q. found out by using Wechsler test.
(A) Constant 1Q ‘

(B) Deviation aIQ

(C) Standard IQ

(D) Emotional 1Q |

------------- WReuMiA AsudR sAL GualaL gLl Waldd S, sy, vlava
2 & o ’ |

Q) Add (2uS. 5y.) ofa s

B) [Qua gyl At

(©) um@m cg[a Uidis

o) m&%ﬂq Wle w-iis

Which of the followmg structure keeps the balance of the body ?

(A) Thalamus == (B) Hypothalamus
(C) Cerebrum « (D) Cerebellum
Al 54 dat 1A [ien. U @ ?

Q) AN ' (B) SISWAAH
(©) Hg Ha | @) Ud wox

Psy.—II ’ V 14
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